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Wlnch of the followmg is the southernmost latltude of the Indian mainland? [1]
(2) 8° 4' North

| () 8° 4' South
(c) 6° 4' South
(d) 6° 4' North

Kavarati is situated in?

= 1]
(a) Pondicherry

(b) Diu and Daman

(¢) Andaman and Nicobar Islands

(D1 akshadweep

Which of the following is NOT correct about river Mahanadi?

[1]
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%ﬁiggﬁhana i rises in the Satpura ranges, in the Betul district of Madhya | —

(b) It flows through Odisha to reach the Bay of Bengal.

(::1) The lepgth of the river is about 860 km.
(d)Its flramage basin is shared by Maharashtra, Chhattisgarh, Jharkhand, and
Odisha ’
4 3
Match Column A with Column B and choose the correct option [1]
COLUMN A COLUMN B
(RIVER) (TRIBUTARY)
1 | Indus River I | Bhavani |
‘ 2 Kayeri River Penganga \
| 3 | Krishna River | | III | Nubra |
i 4 | Godavari River |1V | Tungabhadra el
! 44) 1-111 ; 2=iliorg 3-1IV 5 4 -11
e (b)1-I ; 2= 3-1vV ; 4 - 111
(c) 1-1IT ; 2=V 3-1 ; 4-11°
@11 2-1I1; 3-1V S 410
5 Arrange in sequence: "
1. France became arepublic. 3
ol 2. Louis XVI became the king of France. g

~ 3. A Constitution is framed to limit the powers of the king.
4. Napoleon became Emperor of France.

OPTIONS:

(@) 1,2,3,4
(b)1,2,4,3
ey 2,3, 1.4
(d)4,1,2,3

\ A

there are two statements marked as Assertion

6 In the question given below,
ments and choose the correct option.

(A) and Reason (R). Read the state

Assertion (A): Robespierre was convicted by a court in July 1794, arrested and

| on the next day sent to the guillotine.
‘ Reason (R): Robespierre pursued his policie
by his followers. :

s in moderation but was not liked

(a) Both A and R are true, and R s the correct explanation pf A.
(b) Both A and R are true, but R is not the correct explanation of A.

} ) A is true, but R is false.
(d)A 1s false, but R is true
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4 a-3, b-2, c-1
(b) a-3, b-1, c-2
(c) a-1,b-3, c-2
(d) a-2, b-3, c-1

Which of the following is INCORRECT about the socialists?

(a) The Socialists believed that private property is the cause of all evils.
f workers and farmers.

(b) They believed in the collective interests o
(c) Karl Marx argued that an industrial society was capitalist which exploited the

workers and kept the profits for themselves.
hey believed that all industries should be privatized.
What is the full form of ANC? R

(a) New Asian Congress
(b) Anti — terrorist National Collaboration

4 A frican National Congress

(d) American National Corpus
10 | In the question given below,
(A) and Reason (R). Read the statemen

there are two statements marked as Assertion
ts and choose the correct option

Assertion (A): As far back as in 1928, Motilal Nehru and eight other Congress

leaders drafted a Constitution for India.
Reason (R): The familiarity with political institutions of co
helped develop an agreement OVer the institutional design. -

lonial rule also

R is the correct explanation of A.

Both A and R are true, and _
R is not the correct explanation of A.

(b) Both A and R are true, but

(c) A is true, but R is false.
(d)A is false, but R is true B
choose the correct order of answers from the 1]

11 | From the given statements,
options given below: //

Paper :
ampgode # FTEEI2001/24/SOCIAL SCIENCE_IX-10




() Three times the president of Congress. Later, the first President of India,

(ii) Advocate of socialism, democracy and anti-imperialism. Later: First Prime
Minister of India.

(iii). Lawyer and leader of Bardoli peasant satyagraha. Played a decisive role in
the integration of the Indian princely states. Later: Deputy Prime Minister

OPTIONS:

A

!
Z44) Dr. Rajendra Prasad, Pt, J awaharlal Nehru, Sardar Vallabhbhai Jhaverbhai
Patel.

(b) Dr. Rajendra Prasad, Sardar Vallabhbhai Jhaverbhai Patel, Pt. Jawaharlal
Nehru

7 (c) Pt. Jawaharlal Nehru, D
Patel.

r. Rajendra Prasad, Sardar Vallabhbhai Jhaverbhai

, Pt. Jawaharlal Nehru, Dr. Rajendra Prasad.

; of democratic decision-making?
(@) It guarantees that all decisions are made by the majority.

(b) It pr.omotes Citizen participation and accountability.
| (c) It eliminates the need for regular elections.

(d) It concentrates power in the hands of a few individuals.

a3

Which of the following personalities quoted,
for the people, by the people”?

(a) Mahatma Gandhji

(b) Albert Einstein

(c) Abraham Lincoln

o\ (d¥ Rabindranath Tagore

“Democracy is of the people,

14

In the questions given below, there are two statements marked as Statement
A and B. Read the statements and choose the correct option:

Statement A: The most common form of democracy in today’s world is direct
democracy. '

Statement B: Democracy is also a principle that can be applied to any sphere of
life. '

Both statements are correct.

(b) Both statements are incorrect
(c)Only statement A is correct.

(d) Only statement B is correct.

V4
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Which statement is correct about the farming practices in Palampur?
(a) Farmers in Palampur rely solely on traditional methods of farming.
Farmers in Palampur use a mix of modern and traditional farming methods,
(c)Farming in Palampur is entirely depegdftnt on rainfall.
(d) There is no use of fertilizers and pesticides in Palampur.
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16 Which State
(a) Aqy famij

ment accurate]

Y describes the land distribution in ﬁllﬂmpﬁﬂr- L ] 4
ies in Palampyr have equal access to land.
Y & few large farmers

nd in Palampur,
' N0 land|egg families in Palampur,
——{(d) The OVerment eyep) distributes land amon all families in Palampur.
17 Match the following: .
y : A :
2 _
- S : —B, ith small plots of land, often less
& than 2 hectares
7 — N 24 .
on-Farmip, NG Practlczng growing more than one crop op
Activities

the same Diece of land

5 SO
o

OPTIONs: x*&\ ~ T N
,(aa’IC,IIA,IIIB,IVE, VD —

(b)IA, I B, HIC, 1v E, VD

©IB, 1A, mp, 1y CoViT

-(d) None of the above
18 | Which sector is NOT typically associated With-humap, capital formaﬁon?

(a) Education ~
(b) Healthcare

—)nfrastrucyre development
d) Sports training

19

1
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oth A and R are true, and R is the correct explanation of A.

(b) Both A and R are true, but R is not the correct explanation of A.
(c)A is true, but R is false.

d) A i_s false, but R is true.

|

statement? Explain with an example.

1 TR SECTION B
21 Which physical feature of India is called “Old Massif” and why? (2]
‘ 22 Why do we accept the validity of the Indian Constitution which was made by the | [2]
Constituent Assembly more than 70 years back? Explain by giving any two
reasons.
23 | How did the political system work in France under the Constitution of 17912 (2]
“A virtuous cycle is created by educated parents”. Do you agree with the given | [2]

] SECTION C

25 Give valid reasons “why should we save our rivers for future generations™? \ 13)
26 What was the contribution of land routes to India in ancient times? Explain. \ 3]

|
\
|

Explain any three features of Stalin’s collectivisation programme for peasants in

Explain these sectors.

27 3]
Russia.
2 ‘Democracy is better than any other form of government that is there for us to 13]
choose from’. Justify the statement. '
“The various economic activities have been classified into three sectors”. [3]

o r'--"ku. D R B
B iz RIS 4] &5
SRR &

Read the text a;illvl'y\ and answer

On Sunday, 25 February, the government suspended the Duma. Politicians

ke out against the measure. Demonstrators returned in force to the streets of
the left bank on the 26th. On the 27th, the Police Headquarters were ransacked.
The streets thronged with people raising slogans about bread, wages, better
hours and democracy. The government tried to control the situation and called

out the cavalry once again. However, the cavalry refused to fire on the
demonstrators. An officer was shot at the barracks of a regiment and three other
regiments mutinied, voting to join the striking workers,

30.1. What was the name of Russian Parliament?
30.2. What was the main conse

quence of the February reyol ?
30.3. State any two demands i (o

made by the people during this incidence.

(1)
(1)
(0

31

Read the text carefully and answer the questions:
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Justivfy “EaCi’l physlophic e ', e ey : : : A
: glon of India are equa]
country richer through theijr Natural resources”, qually important to make qur [5]

; 1)
1. What is the Preamble to the Constitution3, Q)
2. Explain its need and importance. ¢\ ()

3. Describe the words ‘Seculdr’ and ‘Sovereign’ as mentioned in the
Preamble of Indian Constitution.

What do you understand by “unemployment™? Explain the different kinds of | [5]
unemployment found in rural and urban areas with examples.
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on the political outline map of world given below, mark and label the
A. Or . »

37

37B.0On tllep 1t1cal ol
with suitable symbols:-
~ (a) State of rising sun




